PRI R A B — R

(N)
— SFNTHEG6 H 2 HEAE
e Bom 5 1 3t i “ﬁf

T | B Na T 181 R
2 | 5k T ERRG 1196 i’é% o ;
3 | IHUE T VARG 1.856 = ois :
- RS 2,593 2,057 3,913 54| 112| 166
5 | e ARG 3.089 e 25 ;
6 | AT s — 3.004 2 S s ;
T | BTSRRI G 1.662 = e ;
8 | JEE VERINER 1488 2 o ;
9 | EmiERNAGE 1764 o 2755 ;
0 | BB VARG 3.920 e Nt ;
TR R 1538 e o0 ;
12 | BN AR G R 1651 }’664 505 ;
13 | BRI G 1.878 oo o ;
4 | R R A 2,945 10 o ;
15 | KEpNERA R 5.630 23 o ;
16 | KENERIAER 4173 o 0 ;
7| R AR 1,599 o o ;
8 | kAP ERAGE 3.036 e . ;
19 | KA ERAGE 3.643 N o ;
20 | AAICE/ VRN B R 3.387 X e ;
TR 1.779 o e ;
22 | HE RS 1.320 2’823 4o ;
23 | RE/VERREE 3.390 5 150 ;
24 | RBRNVERINGE 121 S 7350 ;
5 | mE VPR S 1.609 o 2700 G
26 | IR ER G 1.246 e oon G
27 | W IER b B 5.677 ST 25 G
28 oo 4K — 2,087 S L0 :
29 | R ERRGE 5.86 o 3581 G
30 | (LRI VR B R 3’700 ik e G

A e s ,702 4168

31 R B 1112 ) Y ;
32 HRESEH-ShHEE 1,523 e N :
33 | JI I ER G 1763 Xon o G
34 | TR R 1,347 o I G
35 | R R 3.902 T S g
36 | St R B 2,301 e e ;
37 | S AR B 2.933 T T ;
38 FVG/NFRARE BE 4,057 R T :
39 TSR/ NS B RE 1,995 o Wi :
40 ARAZ2=T 4B — ) 54 =2 L ;
41 BRaz =T X — 57 o s :
42 ) By /N E BE 3,912 = o :
13| RS 3.513 70 o ;
M| EEE S o A — 396 3297;1) e ;
15| AR R R B 37 o ;
46 FEFH /INFARAR B R 833 5 o :
1T | hE RN E R 2.410 503 =00 ;
48 %%@ﬁ&ﬁiﬁﬁﬁ 2’954 s s ;
R LK ) = e :
A 135,333 148,658 283,991 54| 112] 166




PRI R A B — R

(N)
ST TH6 )?_ 2H ;ﬁft
. = +
49 Wirasa=5 44— 411 427 838 0
50 B 22 J5 NP T A0 oy s 13 14 27 0
51 BT/ NPT T — I 382 423 805 0
52 SRSy IS 95 125 220 0
53 TN S O 21 20 41 0
M | — 0 0 — 0
55 ] e SR BB X — 1,443 1,505 2,948 0
56 A rA N h G A BR R R R — 1,392 1,432 2,824 0
57 RIS (BEREE) 2,822 3,141 5,963 0
58 B/ NERAR B AE 3,330 3,555 6,885 0
59 JIIRazS2=T 4 X — 2,625 2,853 5,478] 20| 17| 37
60 WAz =T B — 81 96 177 0
22 [ X HiUE B ¢ —
1 | RFEbSADV) ” 59 168 0
62 [E 5y SFALE N ER R F R 3,789 4,030 7,819 0
63 [y SF P AR B AR 2,639 2,976 5,615 0
64 [y Rl NI B 3,349 3,601 6,950 0
65 JEEaS 2 =T B H— 1,657 1,838 3,495 0
66 B H G AE 114 138 252 0
67 X B iREAS S SE 62 68 130 0
68 N RN PN ] 19 12 31 0
69 AL /N E R 1,740 1,919 3,659 0
70 KBS 2 =T 2 — 2,109 2,306 4,415 0
71 ALV PR A 2,772 3,129 5,901 0
Rt o) || L 21X ot 30,944 33,697 64,641 20] 17] 37
AT A R 166,277 182,355 348,632 74| 129] 203




